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(8) | &5 [ (epm) | BERED | (%) | (B) | (%) [ (ppm) | (ppm) | (B X - #&O) (B)
€ R W= BlE 365| 8677| 0.001 0 0 0 o[ o016 0003 @) 0
€ R W|fEmEs|{E 365| 8691| 0.001 0 0 0 o[ 0056 0.004 @) 0
€ R W|/hIFH|E 365| 8694| 0.001 0 0 0 o[ 0037 0.004 @) 0
€ R W4 &|E 363| 8653| 0.002 0 0 0 0| 0.026| 0.004 O 0
t B Wt ElE 363 8667| 0.001 0 0 0 o| 0034 0003 O 0
t E m|eEES|X 359| 8594| 0.000 0 0 0 o[ o0.006[ o0.001 @) 0
t E WA &E 364 8662 0.002 0 0 0 o[ 0091 0010 @) 0
IR TN R|#ET 362| 8668| 0.001 0 0 0 ol oo010| 0.002 O 0
m B mREFME 364| 8665| 0.001 0 0 0 o[ 0.009| o0.002 @) 0
B W W EE 361| 8591| 0.001 0 0 0 o[ 0014 0003 @) 0
B W m|xE Ik 365 8673 0.001 0 0 0 0| 0.065| 0.004 O 0
B £ W E[E 358| 8581| 0.001 0 0 0 o[ 0.035( 0004 @) 0
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N Y ) BIE |ETH ED 0.2ppm’&lﬁ’i7‘: 0.200mEL T D 0._06ppm.7£— 0.04ppm‘l;lJ: EHE|S1 B ESELN
HET |BIER Hhist | B%K B R fi& 2=t LGk B R BA-B%E O.Qﬁppml«,l'F(D DEM 0.0_6ppm§
ZDEE ZOEE ZDEE |BELTDENE| 98%E | BA-AHK

(B) | (B | (ppm) | (opm) | (BFRE) | (%) [ BFRD | (%) [ (B) | (%) | (B) | (%) | (ppm) ()
€ R W= BlE 364 8646 0.008| 0053 0 0 0 0 0 0 0 o[ oo16 0
€ R W|fEmEs|E 356 8493 0012]| 0.125 0 0 2 0 0 0 0 o[ 0023 0
€ R Wm|/hIFH|E 364 8679 0.008| 0070 0 0 0 0 0 0 0 o[ o019 0
€ R W 2| 365| 8677 0.010| 0053 0 0 0 0 0 0 0 ol 0019 0
€ R R @|E 365| 8679| 0.012| 0.057 0 0 0 0 0 0 0 0| 0.023 0
€ R W@ S|E 365| 8698 0.010| 0058 0 0 0 0 0 0 0 o| 0024 0
€ R W4 &|1E 356| 8520 0.007| 0.055 0 0 0 0 0 0 0 o| 0016 0
t B Wt ElE 362| 8653 0.007| 0044 0 0 0 0 0 0 0 o| o015 0
t E m|eEES|X 357 8559 0002 0022 0 0 0 0 0 0 0 o[ o0.005 0
t B m|FE &E 337| 8009 0.004| 0047 0 0 0 0 0 0 0 ol o011 0
N TN R|ET 362| 8640 0.008| 0047 0 0 0 0 0 0 0 ol 0017 0
m B mREFME 364 8661 0011]| 0048 0 0 0 0 0 0 0 o[ 0.020 0
¥ | %|E 363| 8657 0.004| 0031 0 0 0 0 0 0 0 o| 0.009 0
B W W FHE 359 8566 0.010| 0.058 0 0 0 0 0 0 0 o[ 0.021 0
B W dE xR 354| 8437 0.008| 0.051 0 0 0 0 0 0 0 ol 0017 0
B % W E[E 364 8659 0.008| 0055 0 0 0 0 0 0 0 o[ o019 0
2 O0E ETiE MEE 362 8641 0008| 0055 0 0 0 0 0 0 0 o[ oo16 0
M # ET|R E[E 358 8567| 0.009| 0.051 0 0 0 0 0 0 0 o 0.021 0
FREEET | B|X 363 8658 0002| 0024 0 0 0 0 0 0 0 o[ o0.005 0
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98%fi ™ | 98wl
(H) | B | (epm) | (ppm) | (ppm) [ (B) | (B | (opm) | (ppm) | (ppm) (%)
€ R m|= BlE 364| 8646| 0.001| 0.071| 0.005 364 8646 0009| 0.106]| 0.021 87.6
€ R mW|fEEEHE 356| 8493| 0.005| 0625 0.024 356 8493| 0017| 0750| 0.046 69.9
€ R W/ EH|E 364| 8679| 0.002| 0.042| 0.005 364 8679 0009| 0.112] 0024 83.7
€ R | R|E 365 8677| 0.001| 0.073| 0.006 365 8677] 0011| 0.116| 0.024 89.7
€ R M| @EE 365 8679| 0.003| 0.147| 0.012 365 8679| 0015| 0.199| 0.034 81.4
€ R Wm|fE  EHE 365 8698| 0.003| 0.131| 0.016 365 8698| 0013| 0.175| 0.038 78.1
€ R Wm|d EE 356 8520 0.002| 0.079| 0.007 356 8520] 0.009| 0.108| 0.023 79.6
t E Wt El&F 362| 8653| 0.003| 0.110| 0.014 362| 8653| 0010 0.154| 0.028 69.3
t E m|eEESX 357| 8559| 0.000| 0.027| 0.002 357 8559| 0002| 0038| 0.007 87.1
t B WA BjE 337| 8009| 0.001| 0.089| 0.009 337| 8009| 0006 0.124| 0.019 76.2
AN TN OBR|ET 362| 8640| 0.002| 0.059| 0.008 362| 8640| 0.010| 0.106| 0.024 82.8
m B WREFE 364| 8661| 0.006| 0.138| 0.026 364 8661 0017| 0167 0.041 63.3
P ¥E WF M| 363| 8657| 0.001| 0.035| 0.002 363| 8657| 0.005| 0.058| 0.011 88.7
B W e EHE 359| 8566| 0.003| 0.099| 0.011 359 8566| 0013| 0.139| 0.029 75.2
B W HE xR 354| 8437| 0.002| 0.048| 0.008 354| 8437] 0011| 0.083| 0.023 80.4
B % Wi L[E 364| 8659| 0.002| 0.064| 0.007 364 8659 0010| 0097| 0025 80.1
O ETE BE 362| 8641| 0.001| 0041 0.004 362 8641 0009| 0077| 0019 905
M ET|R [T 358| 8567| 0.002| 0.086| 0.012 358 8567 0011| 0.120| 0.032 83.7
hREERET|RE Bk 363| 8658| 0.000| 0.017| 0.001 363 8658 0003| 0041| 0.006 90.2
(4) —FgibirsR
] ] 18 | 1BFHEL i%ij%;%ﬁﬁ_ibﬁ BRI E AL
. ﬁ@ A |y SEFEA | 1BFHEH 1B%ﬁ§ EHE 10pppéﬂzf: #ﬁﬂ’ﬂ#ﬁk;@ 30ppmELE &
wET | mER A& /ﬂ'l.;E B R & 20.ppm’é'—$ﬁf_7“: 10.ppm€~*ﬁf_7“: fl%_a)ﬂi DERM ~EI72\2EI_1«J~J: 1EIEF1’>J1'I§_75\ Fofor b
hig | B EHEENEE| BHETOHE| BE | 2% [EHLIIED | 10ppmEHER 1= % E 5
BRSME HE B
(B) | (B | (bpm) | (ED | (%) H (%) | (pm) | (ppm) | (E X - #&O) (H) (B)
€ R m|= BlE 363| 8688 0.3 0 0 0 0 2.1 0.4 @) 0 0
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wir [mem| BE| AR AR leng| marame |2012emEAE] g | 1R
Hhigi | BEL | BERE 15{ it D BB B=iE Eé-lijo?[g
(B) | (B5R) | (opm) | (H) | B5RD | (H) | (5 | (ppm) | (ppm)
£ R W= BlE 365| 5441| 0.036 76 455 0 0 0.099( 0047
€ iR ™|@EmE|E 365 5454 0034 63| 318 0 o[ 0097| 0047
£ R Wm|/hiIFH|E 365| 5457| 0.033 60 273 0 o[ 0.089| 0045
€ R W% R|E 365| 5464| 0.037 84| 457 0 o[ 0.098| 0050
£ R W|EBR @&|E 365| 5456 0.034 43| 208 0 o[ 0093| 0046
€ R m|@E #ME 362| 5413| 0.040 90 559 0 o[ o.104| 0053
£ R W4 B[E 365| 5439| 0.037 63 348 0 0 0.093| 0.049
t E Wt ElEF 365 5443| 0.037 62 372 0 0| 0.102| 0.049
€t B WX H|*x 365 5447| 0.037 74 432 0 0| 0.102| 0.047
t E m|B&BE(X 360| 5293| 0.039 82 502 0 0 0.099( 0052
t E m|eEES[X 364| 5378| 0.035 60 338 0 0| o.104| 0046
AN R TN R ET 365| 5440| 0.037 81 514 0 o[ o.109| 0.050
B mREFE 365| 5436| 0.029 44 250 0 o[ o.100| 0.042
e | E|E 365 5447 0.042 91 620 0 0| 0.104| 0.053
B W Wil 8k 365 5399| 0.038 86 516 0 0| o0.104| 0.050
B W E|E 363| 5392| 0.039 97 608 0 o[ o.104| 0053
B W fE xR 365 5441| 0.038 74 392 0 0| 0.109| 0.050
BE £ W|HR  LE[E 365| 5435| 0.039 95 574 0 o[ o112 0052
b= v b= v N E 365 5433 0035 73] 405 0 o[ 0098| 0048
m o AR | 364| 5402| 0.039 97 616 0 o[ o112 0052
FREERET|EE B[k 365| 5442| 0.040 85 638 0 o[ o.109| 0051
GE) RELIESHEMNL20BETORMTELNIEDTH D,
(6) ;Zibihi FRME
R VBREA | 1 BT A i | | ESEAT HEEROE
[N E% BE |EF8| 020mg/m’%E | 0.10mg/m’%E 11-1?0?1 ;FJE;LE O.10_mg—/m E aﬂgﬁgﬁg&ié
wmEr [Eem| e L | B | |exrsmge| BarE%E |ae A BN =
iz | B 20D Avaie REE| 2% | 2B LI EES 0.10_mg/mi€—
BROME| Li-cintE | #Bi-BH
(B) | (BFR) |(mg/m®)| (BERED | (%) (H) (%) [(mg/m*|(mg/m®)| (F x - &O) (")
£ R W= BlE 348 8499 0.020 0 0 0 o[ o112 0051 @) 0
£ R ™|fEmEs[E 361| 8705| 0.019 1 0 0 0| 0214 0047 @) 0
£ R Wm|/hiI%F|E 360/ 8702| 0.020 2 0 0 o[ 0252 0045 (@) 0
£ R W4 B[E 361| 8708| 0.021 0 0 0 o[ 0.171] 0049 (@) 0
t B |t El|&E 353 8596 0.019 0 0 0 o[ 0.100| 0.046 (@) 0
€t B WX H|[X 353 8601| 0016 0 0 0 o[ 0.128] 0.041 (@) 0
t E m|BBEX 353| 8598| 0.017 1 0 0 0| 0247 0043 @) 0
t E m|eEES[X 347| 8524| 0.016 0 0 0 0 0.090( 0042 (@) 0
t B WA BE 352| 8591| 0.020 3 0 0 0| 0.248| 0.054 O 0
AN R TN R ET 352| 8601| 0.020 0 0 0 0| 0.169| 0.053 O 0
m B mREFE 351 8575 0.019 0 0 0 0| o0.124( 0047 (@) 0
M W MR 351| 8570 0.020 0 0 0 o[ o.110]| 0045 (@) 0
B W Wil 8k 348| 8532| 0.019 0 0 0 0| o.118| 0.044 O 0
B W E|E 348| 8502| 0.018 2 0 0 0 0295 0.046 (@) 0
B W fE xR 353 8612 0019 0 0 0 o[ o.101]| 0047 (@) 0
BE & ™R LE[E 351| 8573| 0.019 0 0 0 o[ o0.145( 0053 (@) 0
g ETiE MEE 350 8569 0.019 0 0 0 o[ 0114 0046 O 0
M OE ETI E [T 349 8535 0018 0 0 0 o[ o.100| 0.045 (@) 0
FEEEET(EE B[R 353 8597 0018 0 0 0 o[ 0175 0045 (@) 0
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6~ 0B 6~9m3MR | 6~9RF3RERE
A |Egiy|cp (60| 6~oR3ER [ B FHEA
F‘HET ﬂll.--.% Fﬁﬁ IB%Fﬁ ﬂé - z;ﬁ_:qz Iﬂ“ﬁ EFﬁJﬂE 020pme€'3ﬁ 031ppm075__'3ﬁ
PUER | g | T o | BH xt-A%E | z-B%E
- EalE| RIEME| Z0EE 04
(R | (epmC)| (ppmC)| (H) | (ppmC)| (ppmC)| (B) | (%) | (B) | (%)
# R W= B|E 8450 0.12| 0.13 359 1.63] 0.01 21 5.8 5 14
€t B M|X H|x 8672| 005| 006 365 021 0.02 1 0.3 0 0.0
N BTN E|E 8512 0.09| 0.1 358 075 000 28 7.8 3 08
8) *2 RULRILKE
ARy 2R1EKE
6~ 9B 6~ 9K
b w15 12504 67?3* 6~ 9BF 3R Bl 25| =51 67*23# 6~ 9BF 3R
MR | A | TE | S AL | TR ol il Pyais ol IR
SN 4
B FEE[RER B BEE[BER
(B | (opmC)| (ppmC)| (H) | (opmC)| (ppmC)| (BFRH) | (ppmC)| (ppmC)[ (H) | (opmC)| (ppmC)
# R W= B|E 8450 1.95| 1.96 359 2.13| 1.80| 8450 206| 2.09 359 361 1.87
£t E WX H|*X 8672 1.84| 185 365| 204| 1.73] 8672 1.89] 1.91 365| 2.14| 1.75
Mo BTN [ 8512 189 192 358| 223] 1.75| 8512 198 203 358| 268| 1.78
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"% 1R RE 1 BRI {EHY0.20pm | 1 EFREHY0.1ppm 1(?013&]{%&7&\ 0.04ppmil £ q;t‘tjzlfﬁ 12[5;;%{)_;
e || BT |mEemE|Ewgm| TRV SR e msez| U0 200m T D 1ppm 0.06ppmIL T D8 | B IE
kil BIER NDREIE il A BA-B#E DM |H%0.06ppm|
| B DEIE BRMEEDEIS palsg DBEHE . o
ZDEE N 98%{E | iA1=
ZDEE oy
B | @ | eem) | eem) | @FED | 0 | ®RD | (%) (") (%) () (%) (ppm) ()
€ R fm|(B0RE & 364| 8684 0031] 0.170 0 0 6 0.1 0 0.0 42 115 0.048 0
€ R M|(B)RHET |& 363| 8680 0.032] 0.130 0 0 20 0.2 1 0.3 51 140| 0.048 0
€ R H|(B)EI [£T 365| 8673| 0.022| 0081 0 0 0 0.0 0 0.0 7 1.9 0.039 0
< HET|(B)E < |[1E 357| 8519] 0.033| 0.098 0 0 0 0.0 1 0.3 96 26.9| 0.056 0
(GX) T98%fEFMifEIZk 218 FEH{E.06ppmZE B2 = B4 &L, 1 ERID 1B EHENS5598%DEEIZH>T, HD. 0.06ppmZEEAT=ED D B TH B,
(2 —BILEZRRUERREIEY
— L ZEHR(NO) ZEFRBIEMINO+NO2)
~ B IEEZE] 1HEY
—— AE| oo e - 1B BRBIE] gy - 1 BB FEEHE
WA | HER || ME | WA FTOME| ol EOER T D | R T e o8 DR 0o
BH# 98%E 98%fE
(H) (B5RED) | (ppm) (ppm) (ppm) (H) (B5fED) | (ppm) (ppm) (ppm) (%)
€ R m|((BXE & 364| 8684 0040| 0.307| 0.070 364| 8684 0.070| 0.376| 0.109 43.7
€ R m|(B)HET |7 363 8680 0.044| 0527| 0.081 363| 8680 0.076| 0611| 0.118 424
€ R H|(B)EI (£T 365| 8673 0.013] 0.212| 0.037 365 8673| 0.035| 0277 0.071 63.1
< HET|(B)E < |[1E 357| 8519| 0.029| 0.244| 0075 357| 8519] 0.062| 0.305| 0.122 53.2
Q) —FibiRER
- A 16 = N ARELE
Y I . Sl ot Il PR TN IR el e
wmr | mep |FE| AE |MERSFFHE ﬁzf:giﬁzt%@ 2zr-ue |opsE CF¥ | capries  |Easioemerzs|2LEED
thig| B% 2|4 o 2% o Pt Y:
ZDEE sty | LIECEDHER =E 2B
(H) (BRED) | (ppm) [(E)] (%) =] (%) (ppm) (ppm) (B x - £&Q) (H) (H)
£ R m|((BXE & 365| 8695 0.7 0 0 0 0 8.8 1.0 @) 0 0
€ R m|(B)HET |7 365 8701 0.9 0 0 0 0 47 1.2 O 0 0
€ R H|(B)EI (£T 365| 8703 0.4 0 0 0 0 2.2 0.6 @) 0 0
LA N (=D N 364| 8724 0.3 0 0 0 0 3.6 0.5 ®) 0 0
< HET|(B)E < |[1E 365| 8728 05 0 0 0 0 2.6 0.7 @] 0 0
CGE) TBEREORYMIEICES1 B FE10pomZE BRI -B ST 1 BEHEOSNAMD>2%DFHEND 1 B FEZRN L1 BEHBEDSE10ppmEEE =B
THb.
=L, 1 B EHEA10ppmEBZ = AH2 B U EEHELEERBRDOSSE., 2% & BIZA>TNSBESIZOVTIERILALY,
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ki 1 RS 1B FSES 18FRAE 115‘531ﬁj 01(: ET?{EE#‘ f= Efiﬁl%fgﬁﬁiai%
J— m&| AIE [BIEERE|EESE|0.20mg/m*E B Z 12| 0.10mg/m B X 1= é;-L 12 S eme/m E,uz;‘ o iy
THET BED | B BRMLZORS | BHEZOES DB FE2% | BM28 LLEEHL| EA0.10mg/m’%E
T =E =E BROME 1=CENHE BA-BH
(8) (B FE0) (m_g/ms) (B FE1) (%) (H) (%) (m_g/ms) (m_g/ms) (Hx - &QO) (")
£ R m|((BXE & 361 8702| 0.021 0 0 0 o| 0.175] 0.050 O 0
€ R m|(B)HET |7 359| 8683 0.027 21 0.2 0 0| 0.334] 0058 @) 0
€ R H|(B)EI (£T 361| 8701| 0.020 1 0 0 o[ 0339| 0045 @) 0
< HET|(B)E < |[1E 345 8421| 0.024 0 0 0 0| 0.133] 0.052 O 0

GE) TEREREORYMHEIZES1 B FE0.10mg/m*EBA =EHIEIE 1B THEDS VAL D2%OHE D1 B EHELERI L1 B TEDSH0.10mg/m*%E

BABHTHD,

t=12L. 1 B F9EH0.10me/m* EHBZ = A A2 B UL EBHELERBHDS5. 2% L BIZA>TLS BT DN TIERRS LA,

(b) FEAZ viibKFE
ORI 6~ OFF3RGTEI T 1 | 6~ OB aEF M T
O - 1z | 6~9FF |6~0BF3BFREIFHE| {EA0.20ppmC%E | EHY0.31ppmCE
wiy | mmm |FE|MERE FESE SIS lwe s Bar-EHs | BarENE
B BSiE | 2EE ZDEE ZDEE
(B5) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) () (%) (H) (%)
® R f|(BRE |& 8668 0.25 0.21 365 0.77 0.06 189 51.8 25 6.8
6) A2 RUERIEKE
2 3 D ED TS
. 6~9KFIT] - - 6~9KFIT] | - -
v | wEm |0 s s sirs |00 | OFRITNR g gl o] i | 0705 | O~ FORMTAE
FEHE ol | RIEE FET19{E|" il | RIEE
(B5) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) | (B§RE) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC)
® R f|(BRE |& 8668 1.89 1.89 365 2.20 1.75| 8668 214 2.11 365 2.80 1.89
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() ZFbiRE (EF51(E)

— %R A& F FE ¥ & (ppm)
IS | St 1 1 R | R 2 | AR 1 3 B | TR 14 B | AR SR BE| E R 6 | Tk 1 14 | TR 184 B | TRk 1 94F B | E AR 204

£ R = BE 0.004 0.004 0.004 0.004 0.004 0.004 0.004 0.004 0.002 0.001
€ R W& B EE 0.005 0.005 0.006 0.005 0.005 0.004 0.002 0.002 0.002 0.001
€ R W/ i F[E 0.004 0.004 0.004 0.004 0.003 0.004 0.003 0.002 0.001 0.001
€ R m|# RrE 0.004 0.004 0.004 0.002 0.002 0.002 0.001
& R ™8R Fic] =S 0.005 0.006 0.006 0.005 0.004
€ R (& EB[1E 0.004 0.004 0.005
€ R it EB[1E 0.003 0.002 0.002 0.001 0.002 0.002 0.002 0.002 0.002 0.002
t B |t ElE 0.003 0.004 0.004 0.004 0.004 0.004 0.003 0.002 0.001 0.001
t B X H|x 0.003 0.003 0.001 0.000 0.001 0.001 0.001
t B f|E 8 E[X 0.002 0.003 0.001 0.000 0.001 0.001 0.001
t B g & B[X 0.003 0.003 0.003 0.001 0.001 0.001 0.000 0.000 0.000 0.000
t B W& W 13 0.005 0.005 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.002
t B | i1 ES 0.002 0.003 0.003 0.001 0.000
t E @ 2] BS 0.002 0.003 0.002 0.000 0.001
AN T wl#ET 0.003 0.004 0.003 0.004 0.004 0.004 0.003 0.001 0.001 0.001
m B mXx B OFE 0.004 0.004 0.004 0.004 0.004 0.002 0.001 0.001 0.001 0.001
n & | K|1E 0.004 0.005 0.005 0.005 0.004
B ¥ [ M| 0.003 0.004 0.004 0.004 0.004 0.002 0.002
=TT 1T S1ES 0.003 0.003 0.003 0.003 0.001 0.001 0.001
[SIRTTI N E[1E 0.004 0.004 0.004 0.003 0.004 0.004 0.004 0.002 0.001 0.001
=INITINIES INES 0.006 0.006 0.006 0.006 0.006 0.006 0.005 0.003 0.002 0.001
BE X TR L1 0.005 0.005 0.005 0.005 0.004 0.003 0.002 0.002 0.002 0.001
b= vy P 1 (1 0.003 0.003 0.004 0.003 0.003 0.003 0.003
M # BTN T 0.003 0.004 0.004 0.004 0.004 0.004 0.004
FREEET|S B|& 0.003 0.003 0.003 0.003 0.003 0.003 0.001
b BE B AT B 5|*x 0.003 0.003 0.003 0.001 0.001 0.001 0.001

(2) —Fefi®E (1 BEHBEDER 2 %RIME) (GRIEE# - 0. 04ppmLL F)

- AEE A& 1B EHEDERI2%MRIME (ppm)

IS | St 1 1 | R 2 | AR 1 3 B | TR 14 B | AR SR BE| E R 6 | Tk 1 14 | TR 184 B | TRk 1 94F B | E AR 204

£ R = BE 0.008 0.009 0.009 0.006 0.007 0.008 0.006 0.006 0.006 0.003
€ R W& B EE 0.008 0.010 0.015 0.012 0.011 0.008 0.006 0.005 0.005 0.004
% R [ T FlE 0.007 0.008 0.009 0.008 0.007 0.007 0.006 0.006 0.005 0.004
£ R m|# RlE 0.008 0.008 0.009 0.004 0.004 0.004 0.004
& R &R Fic] =S 0.008 0.009 0.010 0.009 0.008
€ R & BB |1E 0.008 0.008 0.009
€ R it EB|1E 0.006 0.005 0.005 0.005 0.004 0.005 0.005 0.004 0.005 0.004
t B |t ElE 0.006 0.007 0.007 0.006 0.006 0.007 0.006 0.005 0.003 0.003
t B X 2B S 0.005 0.005 0.005 0.001 0.002 0.002 0.002
t E WlE #8 KX 0.005 0.005 0.005 0.002 0.002 0.003 0.002
t B g & B[X 0.006 0.005 0.005 0.003 0.002 0.002 0.002 0.002 0.002 0.001
t B W& W 13 0.016 0.016 0.015 0.008 0.009 0.009 0.012 0.013 0.016 0.010
t B | i1 ES 0.004 0.006 0.004 0.004 0.002 0.002 0.002
t E & H|*k 0.004 0.005 0.005 0.002 0.002 0.002 0.002
AN T wl#ET 0.007 0.009 0.007 0.006 0.007 0.007 0.006 0.005 0.003 0.002
mE WX E OFME 0.007 0.007 0.007 0.007 0.007 0.006 0.003 0.003 0.003 0.002
n & | K|1E 0.008 0.010 0.009 0.007 0.008 0.007
B ¥ R M| 0.007 0.010 0.009 0.007 0.007 0.007 0.005
B WM Bk 0.006 0.007 0.007 0.005 0.006 0.003 0.003
[SIRTT N E[1E 0.007 0.009 0.009 0.006 0.007 0.007 0.007 0.006 0.003 0.003
=INITINIES INES 0.015 0.012 0.013 0.013 0.010 0.011 0.010 0.008 0.005 0.004
BE X TR FE 0.016 0.014 0.015 0.013 0.012 0.008 0.006 0.006 0.006 0.004
b= vy P 1 (1 0.006 0.006 0.007 0.005 0.005 0.005 0.006
N # HET|N |1 0.006 0.008 0.007 0.006 0.007 0.006 0.007
FREEET|S B|& 0.005 0.006 0.006 0.005 0.006 0.006 0.004
b BE B AT R Bl* 0.005 0.006 0.006 0.004 0.003 0.003 0.003
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Q) —FibEH (FFi91fE)

T A A& £ F ¥ {E (ppm)

el | 1 1 4R B T 2E | TR 3 B | TRk asm | TRk s | TRt e | TRk 74 | AR 18 4R B | E 1 9 4R BE | SE AR 204
€ R W= BE 0.010 0.009 0.009 0.011 0.010 0.008 0.008 0.009 0.008 0.008
€ R W|&E B #ME 0.020 0.017 0.017 0.019 0.019 0.017 0.014 0.016 0.014 0.012
& R W/ I BE 0.012 0.011 0.010 0.010 0.010 0.010 0.010 0.010 0.009 0.008
€ R THh|F R|{E 0.016 0.016 0.017 0.017 0.016 0.013 0.012 0.012 0.010 0.010
& iR |8 i) RE2 0.019 0.018 0.016 0.016 0.016 0.016 0.015 0.015 0.013 0.012
& R & e 0.015 0.015 0.013 0.012 0.013 0.012 0.011 0.012 0.011 0.010
& iR it e 0.010 0.009 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.007
+ E |t E|E 0.010 0.009 0.009 0.009 0.008 0.007 0.007 0.007 0.007 0.007
+t E w[X H|*x 0.003 0.004 0.004 0.004 0.004 0.004 0.004
+t E filE B8 EFX 0.003 0.003 0.003 0.003 0.004 0.004 0.003
t E g & B|X 0.003 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.002
+ E || I 1% 0.006 0.006 0.005 0.006 0.006 0.006 0.005 0.004 0.004 0.004
+ E | i1 ES 0.002 0.002 0.002 0.002 0.002
+ E & H|%x 0.004 0.004 0.004 0.004 0.004
N R T N 0.015 0.013 0.013 0.015 0.013 0.013 0.012 0.010 0.009 0.008
mE mX B OFE 0.014 0.014 0.014 0.014 0.014 0.014 0.013 0.013 0.012 0.011
& Tl K|1=E 0.014 0.013 0.013 0.013 0.013
P e N Y| 7 0.007 0.006 0.006 0.006 0.007 0.006 0.005 0.005 0.005 0.004
B W i S1ES 0.008 0.008 0.008 0.009 0.009 0.009 0.008
B W 1= 0.013 0.014 0.014 0.014 0.015 0.013 0.013 0.013 0.012 0.010
B 1 s IES 0.013 0.014 0.013 0.013 0.014 0.014 0.012 0.013 0.010 0.008
HE X ™| L|=E 0.012 0.012 0.012 0.013 0.012 0.011 0.010 0.010 0.009 0.008
b v =4 & 1E 0.011 0.011 0.011 0.011 0.011 0.011 0.010 0.011 0.009 0.008
A ETN #E 0.012 0.012 0.012 0.012 0.012 0.011 0.009 0.010 0.009 0.009
FEEEHET| S I=HES 0.005 0.005 0.004 0.005 0.005 0.004 0.005
o BE B HT| B B|%x 0.004 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.002

(4) —Et=ER (1 BEHEDOERI8%IE)

(REEEAE - 0. 04ppm~0. 06ppmLL )

T AT B 1B FHEDEMH9IS%IE (ppm)

el | 1 1 4 B T 2E | TR 3 B | TRt asm | TRk s | TRt e | TRk 74 | AR 18 4R B | E A1 9 4R BE | SE 204 B
€ R W= BlE 0.021 0.019 0.019 0.021 0.022 0.018 0.018 0.020 0.016 0.016
€ R W|&E B #ME 0.036 0.032 0.034 0.034 0.036 0.032 0.028 0.032 0.028 0.023
& R W/ I BE 0.023 0.020 0.020 0.018 0.019 0.021 0.022 0.025 0.019 0.019
€ R THh|F R|{E 0.029 0.032 0.031 0.032 0.030 0.025 0.023 0.022 0.020 0.019
& iR |8 i) RE2 0.033 0.031 0.029 0.026 0.029 0.029 0.029 0.027 0.025 0.023
& R & e 0.033 0.032 0.027 0.025 0.031 0.029 0.029 0.029 0.026 0.024
& iR it 1% 0.020 0.019 0.019 0.019 0.020 0.020 0.023 0.020 0.016 0.016
+ E |t E|E 0.020 0.018 0.020 0.020 0.019 0.016 0.016 0.015 0.014 0.015
+ E w[X H|*x 0.009 0.009 0.009 0.008 0.009 0.009 0.010
+t E filE 8 EFX 0.008 0.008 0.007 0.011 0.009 0.010 0.009
t E g & B|X 0.007 0.007 0.007 0.007 0.006 0.006 0.005 0.005 0.005 0.005
+ E || I 1% 0.016 0.016 0.015 0.016 0.016 0.015 0.014 0.010 0.010 0.011
+ E | i1 ES 0.005 0.005 0.004 0.005 0.005
+ E & H|%x 0.010 0.010 0.011 0.012 0.011
N T N B 0.029 0.026 0.031 0.029 0.026 0.027 0.028 0.020 0.020 0.017
mE WX B OFME 0.025 0.024 0.023 0.025 0.023 0.023 0.024 0.025 0.022 0.020
& Tl K|1=E 0.022 0.022 0.022 0.022 0.021
P e YE| 7 0.015 0.014 0.015 0.013 0.015 0.013 0.010 0.011 0.010 0.009
B W i S1ES 0.019 0.019 0.016 0.019 0.020 0.018 0.017
B W 1= 0.027 0.028 0.025 0.026 0.030 0.026 0.027 0.024 0.023 0.021
B W s IES 0.024 0.026 0.023 0.023 0.026 0.026 0.023 0.024 0.021 0.017
BE X ™[R L|E 0.025 0.024 0.025 0.026 0.023 0.023 0.021 0.021 0.021 0.019
b v =4 & 1E 0.022 0.021 0.021 0.022 0.022 0.022 0.022 0.022 0.020 0.016
A ETR #E 0.028 0.027 0.028 0.029 0.029 0.027 0.024 0.025 0.021 0.021
HEEEHET| S I=HES 0.012 0.013 0.011 0.016 0.014 0.011 0.013
o BE B HT| B E1ES 0.008 0.009 0.007 0.007 0.007 0.007 0.007 0.007 0.006 0.005




(6) —Ft=EFR (FFHE)

T A A& £ F ¥ {E (ppm)
gk | e p 11 R | TR 25 B | R34 R | R 144 B | R 54 R | E R 64 R | R 74 RE | E R 84 RE | TR 1 94 B | ER204E B2

& R W= BlE 0.004 0.003 0.003 0.003 0.004 0.003 0.002 0.003 0.001 0.001
& R W& m #E 0.010 0.009 0.009 0.008 0.009 0.007 0.006 0.007 0.007 0.005
& R w3 FH[E 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.002 0.002
£ R | Rr[E 0.005 0.005 0.005 0.004 0.004 0.002 0.002 0.001 0.001 0.001
& R B [iiz] (E4 0.005 0.006 0.004 0.003 0.004 0.004 0.004 0.004 0.003 0.003
£ R w|#E ER[1E 0.006 0.007 0.003 0.003 0.004 0.005 0.004 0.004 0.003 0.003
£ R i ER[1E 0.002 0.003 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.002
t B |t BlE 0.007 0.006 0.007 0.006 0.006 0.004 0.003 0.003 0.003 0.003
t B m|K H|*x 0.002 0.001 0.001 0.001 0.001 0.001 0.001
t B W|E # KX 0.002 0.002 0.002 0.002 0.002 0.002 0.001
t B filgE & B[X 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B & W 1 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.001 0.001 0.001
t B m|E TS 0.001 0.001 0.001 0.001 0.000
t B m|fE H|*x 0.002 0.002 0.002 0.002 0.002
/AN VN T P wl#ET 0.009 0.009 0.008 0.007 0.006 0.006 0.005 0.003 0.002 0.002
mE fmX B OFHE 0.014 0.010 0.009 0.009 0.009 0.007 0.007 0.009 0.007 0.006
& K| 0.008 0.006 0.006 0.006 0.006
¥ ME|mg 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001
B W Bk 0.003 0.003 0.003 0.003 0.003 0.002 0.002
=TTl N F|1E 0.004 0.004 0.004 0.004 0.005 0.004 0.003 0.003 0.003 0.003
B W flE MES 0.003 0.004 0.003 0.003 0.004 0.005 0.004 0.004 0.002 0.002
BE £ ™R Ll 0.005 0.005 0.005 0.006 0.004 0.003 0.002 0.003 0.002 0.002
O OET[E &1 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001
M BTN M 0.005 0.008 0.006 0.004 0.005 0.004 0.003 0.002 0.001 0.002
FEEEET|S 1= ES 0.002 0.002 0.003 0.002 0.002 0.001 0.001
o BE B ET| R Blx 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZXEILY (FFHE)

T A A& £ F ¥ {E (ppm)

gk | 11 R | TR 25 B | R34 R | E R 144 B | R 54 RE| E R 64 R | TR 74 RE | E R 8 4E RE | TR 1 94 B | ER204E B2

& R W= BlE 0.014 0.012 0.012 0.014 0.014 0.011 0.010 0.011 0.009 0.009
& R W& m #WE 0.030 0.026 0.027 0.027 0.028 0.024 0.020 0.024 0.021 0.017
£ R w3 FH[E 0.015 0.013 0.012 0.011 0.012 0.013 0.013 0.013 0.011 0.009
£ R | Rr[ME 0.021 0.021 0.021 0.021 0.021 0.015 0.014 0.013 0.012 0.011
& R B [riz] RE4 0.024 0.023 0.020 0.019 0.019 0.020 0.019 0.019 0.016 0.015
£ R w|#E ER[1E 0.020 0.021 0.016 0.015 0.017 0.018 0.016 0.016 0.014 0.013
£ R i ER[1E 0.012 0.012 0.012 0.012 0.013 0.014 0.013 0.012 0.010 0.009
t B |t BlE 0.017 0.015 0.015 0.015 0.015 0.011 0.010 0.011 0.010 0.010
t B m|K H|*x 0.005 0.004 0.005 0.005 0.005 0.005 0.004
t B WA #8 ElX 0.005 0.005 0.005 0.005 0.005 0.005 0.005
t B g & B[X 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002
t B & W 1 0.010 0.009 0.008 0.009 0.009 0.009 0.007 0.006 0.005 0.006
t B m| TS 0.003 0.003 0.003 0.003 0.003
t B m|fE H|*x 0.006 0.006 0.006 0.006 0.007
/AN VN T P wl#ET 0.024 0.022 0.021 0.022 0.019 0.019 0.017 0.013 0.011 0.010
mE fX B OFHE 0.028 0.024 0.023 0.023 0.023 0.021 0.020 0.023 0.019 0.017
hn & K| 0.022 0.020 0.020 0.018 0.018
¥ ME|mg 0.010 0.009 0.008 0.008 0.009 0.007 0.006 0.006 0.005 0.005
B W Bk 0.012 0.012 0.011 0.012 0.012 0.011 0.010
=TTl N F|1E 0.018 0.018 0.018 0.018 0.020 0.017 0.016 0.017 0.015 0.013
B W flE MES 0.016 0.017 0.016 0.016 0.018 0.019 0.016 0.016 0.012 0.011
BE % ™R Ll 0.017 0.017 0.017 0.019 0.015 0.014 0.012 0.013 0.011 0.010
O OET[E &1 0.014 0.014 0.014 0.014 0.014 0.014 0.013 0.013 0.011 0.009
M BTN M 0.017 0.019 0.018 0.016 0.017 0.015 0.013 0.013 0.010 0.011
FEEEET|S 1= ES 0.007 0.007 0.008 0.007 0.008 0.005 0.006
o BE B ET| R Blx 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003




(1) —FEREF (FEFHE)

T TS A& £ F ¥ {E (opm)
Mol (g | TR 2 B | RO | R 1A | F RIS A6 | R T A s R A o | 20 RE
& R m[= Bl1E 0.3 0.4 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3
8) —Fibikdk (1 BEHEDER 2 %ERIME) (GRIBEAE . 10ppmLL F)
-— AER B 1B FEHEDER2%ERSME (ppm)
Mol (S i 1 | T 2 B | RO B | R 14| F RIS R 6 | R T A s R A o | 20 RE
& R m[= Bl1E 0.6 0.7 05 05 05 05 05 05 0.4 0.4

9) feEAXLHL kb (BEOD 1 EEIEDEFEHIE)

T AEE A& BREDQ1BEEEDETFHE (ppm)
g | E 11| T 24 B | R E| ER14E R | A5 | TR 6 | TR 1R | ERvisEE| TR0 | ER20EE

£ R (= BlE 0.034 0.034 0.039 0.042 0.039 0.042 0.036 0.037 0.039 0.036
& R W(@E @ BE 0.029 0.029 0.027 0.029 0.030 0.026 0.027 0.034 0.035 0.034
& 3R wmln = FHlE 0.029 0.031 0.031 0.032 0.029 0.026 0.025 0.032 0.034 0.033
& R Tl e RS 0.030 0.030 0.029 0.034 0.033 0.032 0.030 0.035 0.036 0.037
& R &R [ric] K 0.029 0.030 0.026 0.028 0.028 0.028 0.028 0.031 0.035 0.034
& R m|#@E EB|E 0.038 0.036 0.036 0.037 0.036 0.038 0.033 0.037 0.039 0.040
& R mlde EB|E 0.035 0.038 0.035 0.036 0.036 0.036 0.034 0.036 0.037 0.037
t E M|t E|E 0.031 0.032 0.032 0.034 0.035 0.035 0.032 0.034 0.036 0.037
€t E mMm|XK H|% 0.039 0.043 0.041 0.043 0.042 0.042 0.042 0.039 0.039 0.037
t E WlE B8 EX 0.037 0.035 0.036 0.037 0.038 0.037 0.035 0.037 0.033 0.039
t E mlgE & B|X 0.041 0.037 0.041 0.043 0.042 0.042 0.039 0.035 0.039 0.035
1\ N1 P NE- 0.032 0.032 0.033 0.031 0.037 0.038 0.033 0.035 0.037 0.037
mE WX E OFHE 0.031 0.030 0.030 0.029 0.032 0.035 0.031 0.030 0.032 0.029
B E HH |7 0.035 0.035 0.036 0.037 0.035 0.034 0.037 0.035 0.042 0.042
B W Il Bl*x 0.036 0.035 0.036 0.036 0.033 0.034 0.036 0.038 0.035 0.038
B W F|1E 0.034 0.034 0.035 0.033 0.034 0.033 0.033 0.034 0.038 0.039
=IRTI S NES 0.033 0.033 0.032 0.033 0.031 0.030 0.032 0.030 0.038 0.038
B % | LE 0.033 0.032 0.033 0.034 0.036 0.037 0.033 0.036 0.036 0.039
R ET)E &£ 0.034 0.033 0.031 0.035 0.033 0.033 0.033 0.033 0.035 0.035
N # ET|A M 0.036 0.036 0.034 0.036 0.036 0.034 0.035 0.031 0.038 0.039
FEEEET| B IHES 0.035 0.037 0.037 0.037 0.037 0.036 0.038 0.035 0.041
o aE & ET| R Bl*x 0.039 0.043 0.042 0.046 0.045 0.046 0.044 0.046 0.045 0.040

(10) k24 x5 b (BREOBRE 1 HEEQEFHIE)

T TR Jzzped BEOBRS 1 BEEOEFHE (ppm)

g | E 11| TR 24 B | RIS E| ERu14E R | A5 | TR 6| TR 7EE| ERisEE| TR 9ERE| ER20EE

£ R (= BlE 0.046 0.046 0.054 0.056 0.053 0.055 0.048 0.050 0.051 0.047
& R W(@E B E|E 0.042 0.042 0.039 0.041 0.043 0.037 0.037 0.048 0.048 0.047
£ R ml|/h I F|E 0.041 0.043 0.042 0.042 0.039 0.037 0.035 0.042 0.046 0.045
& R Tl e RS 0.045 0.044 0.043 0.050 0.049 0.046 0.042 0.049 0.049 0.050
& R &R [ric] K 0.041 0.042 0.037 0.039 0.039 0.038 0.039 0.042 0.047 0.046
& R m|#@E EB|E 0.054 0.051 0.051 0.052 0.051 0.052 0.045 0.051 0.053 0.053
& R mlde EB|E 0.048 0.051 0.049 0.049 0.049 0.050 0.046 0.049 0.050 0.049
t E M|t ElE 0.042 0.043 0.043 0.046 0.047 0.047 0.042 0.045 0.048 0.049
€t E ™MK H|% 0.051 0.055 0.054 0.056 0.055 0.054 0.053 0.050 0.050 0.047
t E WlE B8 E[X 0.049 0.048 0.050 0.050 0.051 0.050 0.045 0.049 0.044 0.052
t E mlgE & B|X 0.053 0.047 0.053 0.054 0.054 0.053 0.049 0.044 0.050 0.046
/AN N1 P NE- 0.046 0.046 0.047 0.044 0.053 0.054 0.045 0.048 0.050 0.050
mE WX E OFHE 0.045 0.043 0.044 0.043 0.048 0.051 0.045 0.044 0.046 0.042
F ¥ (B 0.046 0.045 0.047 0.048 0.045 0.044 0.047 0.044 0.052 0.053
B W Il Bl*x 0.050 0.048 0.049 0.048 0.045 0.046 0.047 0.050 0.045 0.050
B W F|1E 0.047 0.047 0.048 0.045 0.047 0.045 0.045 0.046 0.051 0.053
=IRTI = MNES 0.046 0.045 0.045 0.046 0.042 0.042 0.042 0.041 0.051 0.050
B % | LE 0.047 0.044 0.046 0.047 0.050 0.050 0.044 0.049 0.048 0.052
O ET)E &£ 0.048 0.046 0.045 0.050 0.047 0.046 0.046 0.046 0.049 0.048
M RN M 0.050 0.049 0.048 0.049 0.050 0.047 0.047 0.042 0.051 0.052
FEEEET|E = ES 0.046 0.049 0.050 0.049 0.049 0.047 0.049 0.046 0.053
HaE & ET| R Bl*x 0.049 0.054 0.053 0.057 0.056 0.057 0.055 0.057 0.056 0.051




(1) FeZAX A b (BRED 1 BEREIEAO. 12ppmil D BED
T AT A& BRI D1 EREEA0.120pmEL ED B (H)
g | e 11| TR 2R | A3 E| TR 4R | TR 5| ERv6E | TR 7EE| ERsEE| TR0 | ER20EE

€ R ™M= BEl1x 0 0 0 0 0 0 0 0 0 0
€ R m|&E ®@ E[E 0 0 0 0 0 0 0 0 0 0
& R ml/h I FH[E 0 0 0 0 0 0 0 0 0 0
€ R s RE 0 0 0 0 0 0 0 0 0 0
£ R ™8R Fic] RS 0 0 0 0 0 0 0 0 0 0
€ iR & EB[1E 0 0 0 0 0 0 0 0 0 0
€ R mdk EB[1E 0 0 0 0 0 0 0 0 0 0
t E |t EE 0 0 0 0 0 0 0 0 0 0
t E mW|X H|*k 0 0 0 1 0 0 0 0 0 0
t B W|E B E[X 0 0 0 0 0 0 0 0 0 0
t E Tl & BlX 0 0 0 0 0 0 0 0 1 0
Z/A N A1 AN W|%ET 0 0 0 0 0 0 0 0 0 0
mE WX E OFHE 0 0 0 0 0 0 0 0 0 0
B ¥ R (7S 0 0 0 0 0 0 0 0 0 0
B W Il S1ES 0 0 0 0 0 0 0 0 0 0
B W e Z|1E 0 0 0 0 0 0 0 0 0 0
=TT ES INMES 0 0 0 0 0 0 0 0 0 0
BE X ™[R E 0 0 0 0 0 0 0 0 0 0
b= vy P & |1E 0 0 0 0 0 0 0 0 0 0
A BTN T 0 0 0 0 0 0 0 0 0 0
FEEEET| B 1= ES 0 0 0 0 0 0 0 0 1
oh B EET| R Bk 0 0 0 1 0 1 0 0 1 0

(12) FEMFRYE (FFHE)

T AT A& £ F 15 B (mg/md)

g | e 11| TR 2R | A3 E| TR 4R | TR 5| ERveEE| TR 7EE| R EE| TR0 | ER20EE

£ R W= B 0.020 0.023 0.024 0.021 0.020 0.020 0.021 0.021 0.019 0.020
€ R Wm(@E B EHE 0.027 0.030 0.024 0.022 0.019 0.020 0.022 0.020 0.017 0.019
£ R @l = FHlE 0.020 0.023 0.023 0.020 0.018 0.017 0.019 0.020 0.018 0.020
€ iR | rME 0.020 0.023 0.023 0.021 0.021 0.020 0.022
€ R (&R [ric] K 0.023 0.026 0.025 0.020 0.019
€ R m|&E EB|1E 0.024 0.027 0.026
€ R mdk E|ME 0.020 0.026 0.025 0.022 0.022 0.021 0.022 0.021 0.019 0.021
t E |t EE 0.021 0.023 0.022 0.020 0.022 0.023 0.025 0.019 0.015 0.019
t E mM|X H|*x 0.019 0.021 0.020 0.017 0.018 0.018 0.019 0.017 0.016 0.016
t B W|E B KX 0.019 0.022 0.022 0.020 0.019 0.018 0.019 0.017 0.017 0.017
t E Tl & BlX 0.017 0.020 0.021 0.017 0.016 0.016 0.019 0.016 0.014 0.016
t E W& W& |4 0.023 0.025 0.024 0.022 0.022 0.022 0.024 0.021 0.021 0.020
t E & |k 0.019 0.021 0.020 0.019 0.021
t B mlfE H|*k 0.017 0.021 0.020 0.019 0.019
/A NI PN INE- 0.023 0.027 0.025 0.023 0.020 0.019 0.020 0.019 0.017 0.020
& WX B OF[ME 0.021 0.025 0.024 0.021 0.021 0.020 0.020 0.018 0.016 0.019
& | K1 0.019 0.023 0.023 0.019 0.018
B ¥ [ Ve 7S 0.022 0.024 0.023 0.020 0.020 0.018 0.019 0.020 0.017 0.020
=TT 1T Bk 0.019 0.023 0.023 0.018 0.016 0.015 0.017 0.018 0.018 0.019
B W e F|1E 0.020 0.024 0.023 0.020 0.020 0.019 0.020 0.018 0.015 0.018
=TI ES IMES 0.023 0.026 0.025 0.022 0.020 0.020 0.023 0.018 0.016 0.019
BE £ TR EE 0.023 0.027 0.023 0.024 0.020 0.019 0.019 0.019 0.017 0.019
ZE AR | 1E 0.021 0.026 0.024 0.020 0.019 0.019 0.018 0.019 0.019 0.019
N # BTN E 0.021 0.024 0.023 0.019 0.018 0.019 0.020 0.018 0.018 0.018
FEEEET| B IHES 0.021 0.024 0.024 0.021 0.018 0.019 0.020 0.020 0.020
th R EET| R Bl*x 0.019 0.021 0.023 0.019 0.018 0.017 0.020 0.017 0.016 0.018




(13) E#EMFRYE (1 BEHEDOER 2 %ERIME)

(GEIEEAE - 0. 10mg/mLLTF)

—-— S & 1B BN ER2%BIME (mg/m®)
IS | 11 | E R 24 B | TR 13 | R 144 | E AR5 B | E R 6 B | A1 4 | R84 B | A1 94 B | AR 204E B
& R M= BEME 0.045 0.059 0.061 0.062 0.048 0.052 0.056 0.057 0.056 0.051
& R W& B HE 0.057 0.068 0.057 0.056 0.045 0.045 0.058 0.054 0.045 0.047
& R [ I FHE 0.046 0.055 0.056 0.057 0.046 0.046 0.048 0.052 0.055 0.045
& R Tl Rr[{E 0.048 0.059 0.062 0.060 0.052 0.052 0.056
& iR |8 [iiz] RE4 0.047 0.065 0.055 0.055 0.048
& R m|#&E ER[1E 0.056 0.066 0.059
& R mlde =1 RE 0.048 0.066 0.061 0.059 0.054 0.053 0.057 0.055 0.051 0.049
t B |t ElE 0.049 0.059 0.064 0.054 0.047 0.056 0.067 0.051 0.050 0.046
t B MK H|% 0.045 0.064 0.056 0.055 0.045 0.049 0.059 0.045 0.050 0.041
t B WE # KX 0.044 0.062 0.065 0.061 0.046 0.046 0.054 0.045 0.046 0.043
t B filgE & B|X 0.039 0.061 0.059 0.050 0.044 0.046 0.057 0.047 0.053 0.042
t B & I {1 0.053 0.069 0.064 0.069 0.057 0.062 0.079 0.056 0.067 0.054
+t B | TES 0.048 0.065 0.060 0.059 0.050 0.054 0.062
+t B m|fE H|% 0.043 0.058 0.057 0.056 0.047 0.045 0.056
N R T[N W[ET 0.046 0.061 0.059 0.072 0.049 0.051 0.051 0.056 0.048 0.053
mE fX 2B OFHE 0.046 0.063 0.058 0.059 0.048 0.053 0.053 0.051 0.044 0.047
hn & | K| 0.044 0.060 0.057 0.057 0.044 0.044
¥ N YE|7E 0.047 0.065 0.057 0.052 0.043 0.044 0.050 0.053 0.054 0.045
B W Blx 0.041 0.055 0.057 0.059 0.042 0.041 0.049 0.047 0.047 0.044
B W F1E 0.041 0.060 0.059 0.063 0.048 0.050 0.049 0.053 0.044 0.046
B W mlsE MNES 0.046 0.062 0.063 0.065 0.048 0.047 0.062 0.048 0.044 0.047
B % T|R LE 0.050 0.066 0.058 0.074 0.051 0.050 0.053 0.057 0.051 0.053
E O AR (1 0.047 0.066 0.062 0.061 0.050 0.049 0.042 0.052 0.052 0.046
N # ET|A #lE 0.044 0.064 0.059 0.051 0.046 0.048 0.046 0.045 0.051 0.045
FREEET|S = ES 0.048 0.063 0.063 0.057 0.045 0.048 0.057 0.052 0.057
o BE S ET|EE E1ES 0.042 0.063 0.061 0.057 0.045 0.048 0.063 0.050 0.052 0.045
(14) A2 vikibkFE (FFHIE)
AT A A& £ F ¥ {E (ppmC)
s | < p 1 1 45 B T 24E B | TR 3 B | TRt asm | TRk s | TRt e | Ak 7 | AR 184 B | E R 1 9 4R BE | E 204 B
& R M= BME 0.12 0.13 0.11 0.12 0.12 0.11 0.12 0.12 0.11 0.12
t B mWm|X E1ES 0.10 0.08 0.06 0.08 0.10 0.06 0.04 0.06 0.05 0.05
M # TR #lE 0.12 0.13 0.10 0.10 0.07 0.09 0.07 0.10 0.10 0.09
(15) FEA R idbKkFE (6~IBFIZH TS FETFHIE)
AT A A& 6~9BFIZH T HEFE (ppmC)
IS | 11 | E R 24 B | TR 13 | R 144 | AR5 B | E R 6 | A 4 | R84 B | A1 94 B | FERR204E
& R M= B1E 0.13 0.13 0.12 0.12 0.13 0.12 0.13 0.13 0.12 0.13
t B mWm|X E1ES 0.11 0.09 0.07 0.09 0.11 0.06 0.05 0.07 0.06 0.06
M # TR #lE 0.15 0.16 0.14 0.12 0.10 0.12 0.10 0.12 0.12 0.11
(16) 232> (FEHE)
AT A A& £ F ¥ {E (ppmC)
IS | 11 | E R 24 B | TR 13 | R 14 | AR5 B | E R 6 B | A1 14 | R84 B | A1 94F B | T RR204E B
& R M= B1E 1.85 1.86 1.87 1.87 1.88 1.88 1.90 1.90 1.91 1.95
t B mWm|X E1ES 1.84 1.80 1.78 1.78 1.80 1.80 1.82 1.82 1.82 1.84
M # TR #lE 1.85 1.85 1.84 1.85 1.88 1.87 1.87 1.88 1.88 1.89
(a7 ZxibKkFE (FFHE)
T A A& £ F ¥ {E (ppmC)
IS | 11 | E R 24 B | TR 13 | R4 | AR5 B | E R 6 B | A1 T4 | R84 B | A1 94 B | T RR204E B
& R M= BME 1.98 1.99 1.98 1.98 2.00 1.99 2.01 2.03 2.02 2.06
t B mWm|X E1ES 1.93 1.88 1.84 1.86 1.90 1.86 1.87 1.88 1.88 1.89
M ET|A #lE 1.97 1.98 1.95 1.95 1.95 1.96 1.95 1.98 1.98 1.98




4 BBEHHARNEROEMAEREROREEL
(1) —HMEER (FFYE)

AT AT & F£ E ¥ & (ppm)
g | e 1| TR 2R | A3 | TR 4R | TR 5| ERve s | TR 1A | R sE | TR0 | ER20EE
£ R mlB)R & & 0.042 0.036 0.036 0.034 0.032 0.033 0.037 0.033 0.034 0.031
£ R Wl(E)s B |EE 0.034 0.034 0.031 0.034 0.038 0.041 0.039 0.037 0.033 0.032
€ R m|(B)E I |#T 0.030 0.026 0.026 0.030 0.032 0.026 0.025 0.026 0.023 0.022
% R wW|(B)ER @& |EE 0.029 0.026 0.025 0.023 0.023 0.025 0.025 0.022 0.022
B2 mBET((BENEF AT [1E 0.030 0.034 0.033 0.033
() —EME=EE (1 BEMEDERISWIE) (IBEEE - 0. 04ppm~0. 06ppmLLl )
- TR =12 1B EHEDERIS%IE (ppm)
g | e | TR 2R | TR s | TR 4R | TR 5| ERv6E | TR 7| ERsE | TR0 | ER20EE
£ R mlB)R & & 0.062 0.052 0.055 0.050 0.048 0.050 0.052 0.051 0.048 0.048
£ R Wl(E)s B |EE 0.051 0.052 0.048 0.051 0.060 0.063 0.054 0.052 0.048 0.048
€ R m|(B)E I | 0.048 0.041 0.044 0.048 0.050 0.041 0.041 0.041 0.038 0.039
% R wW|(E)ER ®1 |7 0.043 0.040 0.036 0.034 0.035 0.037 0.038 0.035 0.033
B2 mBEr((ENEF AT [1E 0.048 0.054 0.054 0.056

Q) —MILER (FFYE)

AT AT & F£ FE ¥ {E (ppm)
g | e | TR 2R | TR s | TR 4R | TR sEE| ERveE | TR 74| R s | TR0 | ER20EE
£ R ml(B0R® & & 0.083 0.064 0.065 0.060 0.056 0.058 0.057 0.050 0.047 0.040
£ R Wm|(B)E BT |EE 0.061 0.064 0.059 0.066 0.077 0.082 0.072 0.063 0.050 0.044
€ R m|(B)E I |#T 0.022 0.020 0.019 0.019 0.024 0.018 0.016 0.016 0.013 0.013
£ R W|(E)ER B |EE 0.026 0.022 0.022 0.019 0.020 0.024 0.021 0.019 0.018
B2 mBEr((ENEF AT [1E 0.042 0.035 0.030 0.029

(4) ZFHEALY (EFHE)

T AT & F£ E ¥ & (ppm)
g | e 1| TR 2R | TR E| ERu4E R | TR 5| ERveEE| TR 1A | R sEE| TR0 | ER20EE
% R ml(B® B |fE 0.124 0.100 0.102 0.094 0.088 0.091 0.093 0.083 0.081 0.070
£ R Wl(E)s B |EE 0.095 0.098 0.090 0.100 0.115 0.123 0.111 0.100 0.083 0.076
€ R m|(B)E I |#T 0.052 0.046 0.045 0.049 0.056 0.043 0.041 0.041 0.036 0.035
% R wW|(E)ER w1 |7 0.055 0.047 0.047 0.042 0.043 0.049 0.046 0.041 0.040
B2 mBEr((ENEF AT [1E 0.073 0.069 0.063 0.062

(6) —FibiRFE (EFHE)

AT AT & F£ FE ¥ & (ppm)
IS | 11| ER 2 | ER 13 EE| TR 14EE | ERSEE| TR 6| TR TERE| ERIsEE| TR0 E| ER20EE
£ R WwBER & (@ 1.7 15 1.1 038 0.8 0.9 0.9 0.8 0.8 0.7
£ R w|(B)y BT | 2.4 2.1 1.3 1.6 1.7 1.4 1.2 1.1 1.0 0.9
€ R m(B)EE I [T 0.6 05 05 05 05 05 05 05 0.4 0.4
£ R w|(B)ER AT (B 0.7 0.7 0.7 0.7 0.7 0.6 0.6 05 0.5
AN Y T(EMN | 0.6 05 05 05 05 0.4 0.4 0.4 0.4 0.3
By < T ET[(B)EF &< T |1 0.9 0.8 0.7 0.7 0.7 0.6 0.6 0.6 05 05
(6) —Fibie®E (1 HEHBEDER 2 %ERIME) GRIEE# . 10ppmLLF)
- TR A& 1B EHEDER/R2%ESME (ppm)
IS | 11| ER 2 | ER 13 E E| TR 4EE | ERSEE| TRt 6| TR 1E R | ERIsEE| TR0 E| ER20EE
£ R WwBER & (@ 2.6 2.5 20 1.9 1.4 1.4 1.4 1.2 1.1 1.0
€ R Wm((B)F BT (B 38 34 26 29 26 2.1 1.9 1.7 1.4 1.2
€ R m((BE)EE I [T 1.0 1.0 0.8 08 0.9 0.8 0.8 0.8 0.7 0.6
£ R w|(B)ER AT (B 1.2 1.1 1.1 1.1 1.1 1.0 1.0 0.8 0.8
AN Y T[EMN | 1.0 1.0 0.8 0.9 0.8 0.7 0.7 0.7 0.6 05
By < T ET[(B)EF &< T |1 1.3 1.4 1.1 1.0 1.0 1.0 0.9 0.9 0.8 0.7




() FEpFRYE (FEFHE)
- =B J=2F ELHE (mg/m°)
W pppne | Trcer | Eriser | Taseik | Troser | Triess | ErivaE | Eavsaik | Taoosm | TaoE
& R m|(B)X & & 0.026 0.023 0.024 0.026 0.024 0.024 0.021
& R m((B)AF BT |& 0.030 0.031 0.027 0.027
& R W8k I |[#T 0.023 0.024 0.022 0.018 0.020
& R M|[(B)ER ®1 [& 0.026 0.030 0.030 0.028 0.027 0.025 0.020 0.020 0.019
%42 mEI|(B)%F AT [ 0.026 0.026 0.023 0.024
(8) FERFIKYE (1B TFHEDER 2 %ERIME) (BEE# - 0. 10mg/m° LA TF)
— - B 1B FEHIEDER2%ERIME (mg/m®)
W e | Tri2Ee | BaisEs | Eaaei | Taser | TrieEs | EaivEE | Eaisar | TaoEr | Ea20EE
& R wml(E)E & (& 0.061 0.048 0.052 0.062 0.056 0.058 0.050
€ R ml(ER B |& 0.059 0.065 0.058 0.058
€ R (B I |[#T 0.052 0.056 0.058 0.051 0.045
£ R |(B)ER @1 (7 0.055 0.068 0.062 0.071 0.057 0.063 0.052 0.048 0.049
2 mET[(BDEF AT |[1E 0.059 0.062 0.059 0.052

9) FEAZ vpfbkR (FEFIE)

- —_— A& FEYE (ppmC)
" SO g1 | 1o | PRISERE | PR | FAUSER | TaoRE | TR | Frusar | FRuoEE [ FR0EE
& R @R & & 0.55 0.50 0.53 0.56 0.55 0.58 0.42 0.31 0.30 0.25

(10) FEA%H UiribkE (6~9BFICE T HFFHIE)

- S A& FEYE (ppmC)
" SO g1 e | 1o | RISERE | PRI | FAUISER | FRoERE | FRI7ERE | Frusar | FRuoEE [ ER0EE
& R #mER & |& 0.44 0.41 0.45 0.43 0.48 0.49 0.37 0.27 0.26 0.21

an A%2> (FF9fE)

- —_— A& FEYE (ppmC)
" SO (g1 se g | 1ot | RISERE | PRI | FAUISER | TRoRE | FRI7ERE | Frusar | FRoEE [ FR0EE
& R @R & & 1.93 1.92 193 1.95 1.98 2,01 1.92 1.88 1.89 1.89

(12) =EibKE (FFHIE)

- —_— A& FEYE (ppmC)
" SO g1 | 1o | RIS | PR | FAUISER | TRoRE | TR | FrusarE | FRuoEE [ ER0EE
& R @R & |& 247 2.41 2.45 2.51 2.53 2.60 2.34 2.19 2.19 214
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